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PHYSICAL EDUCATION
Paper I1
Time Allowed : 1, Hours] [Maximum Marks : 100
Note :— This question paper consists of fifty (50) questions with multiple choice
answers. Each question carries two (2) marks. Attempt all questions,
1.  Which movement may not be intrinsic to the body ?
(A) Breathing (B) Swallowing
(C) Masticating (D) Throwing
2. Kinetics refers to :
{A) change of place or location during a time interval
(B) a force that attracts everything
(C) change of ;;lace or position of an object or body
(D) none of the above

3. DMoving a body part away from the body midline and back to the midline

represents two movements known as :
(A) abduction and adduction_

(B) elevation and depression

(C) Pronation and supination

(D) Flexion and extension
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4. Circuit training is called when :
(A) Variety of exercises are performed
(B) Exercises are performed different stations
(C) (A) and (B) both
(D) None of the above

5. Which one is the smallest probability of error ?
(A) 0.01 (B) 0.001
(C) 0.10 (D) 0.05

6. The mode is a better measure of central tendency for dealing with :
(A) Ordinal data (B) Nominal data
(C) Ratio data (D) Interval Data

7. A quick comparison of the mean and the median will tell you if a distribution

of score is :

(A) Skewed and to which direction
(B) Not skewed

(C) Badly skewed

(D) Skewed but no direction
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8. When a teacher does not have the time to construct the test he uses :
(A) Standardized test (B) Essay test
(C) Objective test (D) All of these
9. Social learning theory comes in :
(A) anxiety (B) aggression
(C) team cohesion (D) self-concept

10. The barometer ability test, which measures general or fundamental skills has

basic purpose as :
(A) Students-selection for sports
(B) Classification and guidance
(C) Activity class management
(D) Counselling and placement
11. The height of bench for boys in Harward step test is :
(A) 15" (B) 20"

(C) 24" (D) 30"
T.B.C.: 16/15/ET—II 6
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12. Under ideal conditions the JCR test battery measures an individuals :
(A) Psychophysical fitness
(B) Physical fitness
(C) Cardiovascular fitness
(D) Motor fitness
13. Which of the following is not an important step in construction of test ?
(A) Reliability (B) Procedure for scoring
(C) Gender ratio (D) Objectivity
14. The degree of uniformity with which various person score the same test is :
(A) reliability
(B) objectivity
(C) validity
(D) evaluation
15. SAI established in :
(A) 1984 (B) 1982

(C) 1985 (D) 1990
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16. Comparatively more time, money and energy are required to organise :
(A) School tournaments
(B) Intramural competitions
(C) Class competitions
(D) Extramural competitions
17. Sports and activity equipments can be categorized as :
(A) Consumable (B) Non-consumable
(C) (A) and (B) both (D) None of these
18. Pupil-teacher relationship shattered if teacher is :
(A) understanding (B) helpful
(C) friendly (D) strict
19. The training cycle of duration of 1-2 yrs is called :
(A) Micro
(B) Macro
(C) Meso

(D) None of the above
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20. Historical Research Method provides :
(A) Historical study
(B) Deep study
(C) Pre and Post study
(D) Complex study
21. Which is the body fat measurement technique ?
(A) BMI (B) Cooper test
(C) DEXA (D) Ultrasound
22. Sub-laxation is the injury of :
(A) Muscle
(B) Artery
(C) Bone
(D) Joint
23. Stagnated performance of athléte can be denoted by :
(A) S-curve (B) Pie

(C) Parabola (D) Chi-square
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24. Sports performance can be affected by which ?
(A) Citizenship
(B) Stress
(C) Wealth
(D) Religion
25. Source of energy is :
(A) Minerals
(B) Water
(C) Carbohydrates
(D) Vitamins
26. BMI depends on :
(A) Height
(B) Weight
(C) Height and Weight

(D) None of the above
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27. W.B.C means :
(A) Whole Blood Corpuscles
(B) White Blood Corpuscles
(C) White Blood Cell
(D) Whole Blood Cell
28. Anaerobic exercises occur in :
(A) Presence of Oxygen
(B) Presence of Nitrogen
(C) Absence of Oxygen
(D) Absence of Hydrogen
29. Plasticity is :
(A) Reduction in size (B) Enlarged in size
(C) Regain of actual size (D) Loss of shape
30. Physical exercises deal with the development of human body :
(A) Mental (B) Educational

(C) Physical (D) Emotional
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31. Growth occurs more rapid than development in :

32,

33.

(A) Childhood (B)
(C) Adolescent (D)
Endurance depends on :

(A) Absence of disease

(B) Physical fitness

(C) Team spirit

(D) Sociability

Group of tissue forms :

(A} Mega cell (B)
(C) Mega tissue (D)
The term ‘Chip pass’ is used in :

(A) Tennis

(B) Basketball

(C) Football

(D) Handball

T.B.C.: 16/15/ET—II 18

Old age

Adult

Micro cell



31. e e ¥ ofs fawre & <= 39 & & 2

(A) =regrewyr
(C) forvitmeen #
32. weTeiem smaf@ & .
(A) =wrt = &
(B) wriiftes dged
(C) Zm wra
(D) geiterar
33. Fa®l ® GYE w9 ¥
(A) & &=
(C) oM Faw
34. ‘mm'mmsﬁﬂm:&m%:
(A) =
(B) afhzale #
(C) wea= #

(D) T=afs §

T.B.C.: 16/15/ET—I1

(B) FgmEeen H

(D) FamEwen ¥

(B) w=igeh! 99

(D) =m

19

P.T.O.



35.

36.

37.

While drawing fixture, the formula for determining for odd number of teams

in upper half is :

n n+l
(A) 2 (B) 5

n-1 (n+2)*
(C) 9 (D) 3

In Kabaddi, the line mendatory for a raider to cross, is called :
(A) Back line (B) Baulk line

(C) Inner line (D) End line

For compare two groups which of the following tests is used ?
(A) t-test

(B) F-test

(C) y%-test

(D) Post-hoc test

Which item is included in JCR test ?

(A) 1500 m Run (B) Discus throw

(C) Shuttle Run (D) Long jump
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39. Which of the following is called Ball and Socket joint ?
(A) Joint of the ribs
(B) Shoulder joint
(C) Skull joint
(D) None of the above
40. Performance capacity may be increased by :
(A) Overload (B) Underload
(C) Training load (D) None of these
41. The term Bully is used in which game ?
(A) Handball (B) Tennis
(C) Table Tennis © (D) Hockey
42, Term like Kuzushi is related with which game ?
(A) Judo (B) Softball

(C) Boxing (D) Chess
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43. Olympism is a stateof .............. based on equality of sports which are International

and democratic.

(A) Mind (B) Body

(C) Institution (D) Organization
44. Carbohydrates are essential :

(A) for endurance activity

(B) for strength activity

(C) to get freedom from disease

(D) breaking down complex body molecules
45. Which is not included in Olympic Motto ?

@) Cities (B) Stronger

(C) Altius (D) Fortis
46. Aggression in sports leads to :

(A) Violence (B) Tension

(C) Award (D) Spiritualism
47. Extroverts are interested in :

(A) Others (B) Themselves

(C) None (D)  All
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48. Sports activity should be based on the interest of whom ?

(A) Participants (B) Leader

(C) Institution (D) Religion

49. To honour Zeus, which games were held ?

(A) Commonwealth Games

(B) Asian Games

(C) Ancient Olympic Games

(D) National Games

50. In which of the following dictums, the philosophy of realism best exemplified

18 :

(A) Sound mind in sound body

(B) Round peg in round hole

(C) Survival of the fittest

(D) Longer the waistline shorter the lifeline
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